My statement of the target argument, using Thomson’s words as much as possible:

1. [If] a woman voluntarily indulges in intercourse, knowing of the chance it will issue in pregnancy, and . . . does become pregnant, [then her partial responsibility for the fetus’s being there DOES itself give it a right to the use of her body].

2. If [premise 1 is true], then her aborting it would be more like the boy’s taking away the chocolates, and less like your unplugging yourself from the violinist—doing [the abortion] would be depriving [the fetus] of what it does have a right to.

3. Thus [doing the abortion] would be doing [the fetus] an injustice.

4. Then . . . if she voluntarily called it into existence, [she can NOT now kill it, even in self-defense].

My diagram:  1 + 2 ( 3 ( 4.

